Risk Management
Classwork (Lessons 1 to 2)
A. Multiple Choices: (10 marks)
1. For risk:
I. Consequence of the event is by chance

II. Consequence of the event is only loss

III. Consequence of an event is for sure

IV. Consequence of the event could be loss

a) I and II

b) I and IV

c) II and III

d) II and IV 

Ans: b

2. Which of the following will not involve any business risk:

a) Closing down the business
b) Diversifying the business
c) Inventing a new product

d) Inviting wealthy partner
Ans: a

3. Which of the following option will affect the degree of a risk?
a) The probability that adverse result will happen

b) The size of damage when adverse result happens

c) Both of above

d) None of above

Ans: c

4. Which of the following would involve higher risk:
Probability that adverse result would happen
   size of damage 

a)




1.0






 $10,000

b)




0.8                          $10,000
c)




0.6





     $12,000

d)




0.5              


 $20,000 

ans: d

(Probability = 1 means something definitely happen, no risk at all)

5. Pure risk is:
a) The outcome of the event can only be loss

b) The outcome of the event can be gain or loss

c) The outcome of the event can only be no loss

d) The outcome of the event can be no loss or loss

Ans: d

6. Speculative risk is:
a)  The outcome of the event can only be loss

b)
 The outcome of the event can be gain or loss

c)
 The outcome of the event can only be no loss

d)
 The outcome of the event can be no loss or loss

Ans: b

7. Keeping money in business’s safe instead of its time deposit account could most likely be:
a) A pure risk

b) A speculative risk

c) Both speculative risk and pure risk
d) None of the above
Ans: a

8. Which of the following most likely involves a pure risk
a) The company’s CEO has diagnosed a cancer   
b) The company publish and sell a book about how its CEO fight the cancer 

c) Buying Hong Kong Bank shares as company’s investment 
d) Buying a new flat as company’s additional asset
Ans: a

9. Which of the following most likely involves a speculative risk
a) Launch new product to the market

b) Keep the products in a new warehouse

c) Drive a car to deliver the products to the retailer

d) Operate a machine to produce products
Ans: a
10. Which of the following makes it important for business to distinguish speculative risk from pure risk:
a) Business only deal with pure risk

b) Business only deal with speculative risk

c) Normally only pure risk can be insured
d) Normally only speculative risk can be insured
Ans: c

(1 mark each, total = 10 marks)
A. Short questions (classwork): (15 marks)
1. Give an example of pure risk that one may encounter when running a book store and explain why it is a pure risk. 








(5 marks)
Ans: 

Having theft could be an example of pure risk since the outcomes to this situation can only be “no loss” or “having loss” to the book store.

2. Give an example of speculative risk that one may encounter when running an ice-cream shop and explain why it is a speculative risk 



(5 marks)
Ans:
Introducing new style of ice-cream would be a speculative risk since the situation can be a gain (well-received by customers) or loss (negative response from customer)

3. Explain the meaning of law of large numbers in risk context


(5 marks)
Ans:

Given a similar risk, the law of large numbers refers to the situation when the sample size of people or organizations concerned is large enough, the potential to collect information to ascertain the possible damage increases. 

B. Essay question (classwork): (15 marks)
In order to be insurable from the viewpoint of an insurance company the loss arising from an event should not be catastrophic nor too insignificant. Explain the above with an example for each criterion.

Ans:

It should be noted that insurance company is a business that must try to achieve cost economies in order to be profitable. At the same time the insurance company also needs to deal with its own risk too. 







(5 marks)
If the loss is catastrophic e.g. a pandemic affecting large population of people which then leads to huge claims, the insurance company would find it unprofitable to go for it. 













(5 marks)
Meanwhile, if the loss is too insignificant, the insurance company would find it uneconomical to accept after taking all the administrative costs in consideration e.g. loss of stationeries in an office. 







(5 marks)
Risk Management
Homework (Lessons 1 to 2)
A. Multiple Choice (10 marks)
1. Traditionally, risk management in a company concerns mainly on:
a) Speculative risk

b) Pure risk

c) Both speculative risk and pure risk
d) None of them

Ans: b

2. Insurable risk is
a) A kind of risk that have to be insured
b) A kind of risk that insurance company will offer cover for

c) A kind of risk that can only be protected through insurance
d) A kind of risk that can be covered by most types of insurance 

Ans: b

3. Non-insurable risk is

a) A kind of risk that should not be covered by insurance

b) A kind of risk that can only be covered by measures without any insurance elements

c) A kind of risk that insurance company will not offer cover for

d) Actually a speculative risk that cannot be insured
Ans: c

4. It is unlikely to have insurance against depreciation of an machinery operating in a company’s factory because:

a) The value of the depreciation loss cannot be measured in monetary terms

b) The probability of the loss cannot be estimated

c) The depreciation is for sure to happen but not by chance

d) The loss could be catastrophic

Ans: c

5. The owner of a company insured against damages to a valuable asset in the company and then the following happened:

I. The owner of the company damaged the asset on purpose out of personal emotion
II. An employee damaged the asset on purpose out of personal emotion
Will insurance compensation be made in the above situations?


  Case I



   Case II

a) Yes




Yes

b) Yes




No

c) No




Yes

d) No




No  
Ans: c
6. Why the law of large numbers is important for insurability?
a) Large number enables more correct estimations on the loss be made
b) Large number enables more clients be reached

c) Large number enables more premium payments be obtained

d) Large number enables more claims be avoided

Ans: a

7. With reference to the concept of insurability, the major reason for an insurance company trying to have policies covering the same risk scattered over many different geographical areas because:
a) The company wants to become a global insurance enterprise
b) The company cannot make profit from one single area
c) The company wants to economize its administrative costs

d) The company wants to spread out the risk

Ans: d

8. It is hard to get insurance for risks happened frequently with loss amount small in value because it is:
a) Hard to justify the administrative costs

b) Hard to measure the monetary value of the loss

c) Hard to predict the chance

d) Hard to justify the loss is caused by intentional actions

Ans: a

9. It would be difficult to insure against pandemic because of the reasons below except:
a) It could affect large proportion of population 

b) It could affect large geographical area

c) It could lead to catastrophic loss

d) It could be controlled and the outbreak is not by chance
Ans: d
10. It is important for a risk to be measureable in order to get insured because:

a) The insurance company needs to calculate how much the administrative costs

b) The insurance company needs to determine the premium based on the amount of loss

c) The insurance company needs to calculate the probability of the loss occurrence

d) The insurance company needs to calculate how much money need to be kept as reserve 
Ans: b
(1 mark each, total = 10 marks)
B. Short questions (homework): (15 marks)
1. With reference to a fashion shop, illustrate the criteria for the occurrence of an event to be insurable. 











(5 marks)
Ans:

In order to be insurable the happening of such event should be accidental, the occurrence of the outcome should be by chance and none can be sure of it. Besides, it should not be intentional act for taking advantage of the insurance compensation. For a fashion shop if fire is broken out by accident it is insurable but if the fire is set up by the owner who do it on purpose, then the accident cannot get any compensation.

2. Is it possible to identify certain pure risk as definitely non-insurable? Why or why not? 














(5 marks)
It is getting more and more difficult to conclude a certain pure risk as definitely non-insurable since there are many new kinds of risk appearing day by day, and the insurance company have to face fierce competition that makes them try hard to roll out new products covering more and more types of pure risks.

3. Distinguish between a car collision on the road from a car collision in a car durability test by referring to different types of risk.






(5 marks)
Ans: 

A car collision on the road is a pure risk since there could only be no damage (no loss) or damage (loss). However, for the car collision test, the result could be successful (gain) or unsuccessful (loss) and therefore it would be a speculative risk.

C. Essay question (homework)

Give one example of insurable risk for each of the areas below for a shopping mall and explain why it is insurable.







(15 marks)
a) Property

b) Liability

Ans:

a) Water damage: it is insurable because 
· Happens purely accidental unless the owner do it on purpose

· The loss from damages on furniture and fixture in the property can be measured in monetary value

· The loss would not be catastrophic

· The loss would not be too insignificant (if the loss is too small, normally insurance company can use deductible to reduce the administrative costs)

· Many similar cases occurred before and the probability of its happening can be estimated

(2 marks each, max = 7 marks)

b) Public liability e.g. It is the responsibility of the shopping mall to avoid people from falling down onto the floor due to slippery floor. It is insurable because:

· Purely accidental though it is the fault of the shopping mall

· The loss can be measureable e.g. the injury and the medical expenses and other related expenses

· The loss would not be catastrophic

· The loss would not be too insignificant (medical expenses usually will not be too insignificant, again deductible will be applied for really insignificant cases)
(2 marks each, max = 8 marks)

Risk Management
Classwork (Lessons 3 to 5)
A. Multiple choice questions (10 marks)
1. Which one of the following is correct?

a) Risk is purely by chance and there is nothing to do to minimize the associated loss
b) Risk can be managed so that the loss associated can be reduced
c) Risk and the loss associated can only be handled by insurance

d) There is no way to find out the causes underlying the risk

Ans: b

2. Which two of the following strategies are aiming at reducing the chance of having hazards?

I. Risk avoidance

II. Risk reduction

III. Risk transfer

IV. Risk assumption

a) I and II




b) I and III

c) II and III

d) III and IV

Ans: a

3. Which two of the following strategies are aiming at preparing finance for the loss arising from the hazards?

I. Risk avoidance

II. Risk reduction

III. Risk transfer
IV. Risk assumption

a) I and II

b) I and III

c) II and III

d) III and IV
Ans: d

4. Withdrawing from a political unstable country as a way to deal with the risk involved when doing business in that country belongs to which of the following strategies?
a) Risk avoidance

b) Risk reduction

c) Risk transfer

d) Risk assumption

Ans: a

5. A restaurant sources its food stuff supply only from reliable suppliers in order to avoid the risk of food poisoning. Which of the following strategies is the restaurant applying?

a) Risk avoidance

b) Risk prevention/reduction

c) Risk transfer

d) Risk assumption

Ans: b

6. A convenience store treats the costs of shoplifting as part of its operating expenses. Which of the following strategies is the convenience store applying?
a) Risk avoidance

b) Risk reduction

c) Risk transfer

d) Risk assumption

Ans: d

7. A large multinational corporation never allows all members of its top management team travelling in the same flight when going out for meetings. Which of the following strategies is the corporation adopting?
a) Risk avoidance

b) Risk reduction

c) Risk transfer

d) Risk assumption

Ans: b

8. A large supermarket chain makes contracts with its suppliers that the stock purchased will remain in the suppliers’ warehouse until the last moment upon request for the delivery. Which of the following strategies is the supermarket applying?
a) Risk avoidance

b) Risk reduction

c) Risk transfer

d) Risk assumption

Ans: c

9. Risk avoidance is not a very practical and realistic strategy because:
a) It is not possible to avoid all the risks for a running business

b) It is not possible to apply avoidance strategy owing to its complicated procedures
c) It is not possible to cover all the risks with risk reduction strategies, nor can they be avoided
d) It is not possible for all firms to avoid risk since only large corporation can have such capability to do so
Ans: a

10. Under what conditions that risk assumption would be an appropriate strategy?
I. When the loss is insignificant

II. When there is no other risk management strategy feasible

III. When the company wants to control the risk by itself

a) I and II
b) I and III’

c) II and III

d) I, II and III

Ans: a 

(1 mark each, total = 10 marks)
B. Short questions (course work): (15 marks)
1. Explain with an example the meaning of risk reduction strategy. 
(5 marks)
Ans:

Risk reduction is the use different methods to reduce the chance of its occurrence or the costs of loss when it happens e.g. better training of worker so that industrial accident can be reduced /avoid putting all the valuable inventories together in one place.

2. Explain the meaning of risk avoidance strategy with an example. 
(5 marks)
Ans:

Risk avoidance is to use different methods to eliminate any chance of loss from happening e.g. don’t enter the market in a country where there is a war.

3. Distinguish between risk transfer strategy and risk assumption strategy by giving one example to each strategy. 







(5 marks)
Ans: 

Risk assumption means the company itself will absorb all the losses when the hazard happens e.g. a restaurant may absorb the costs of stolen cutleries. Risk transfer means that the concerned company will use some ways to shift the financial burden to other party if the hazard happens e.g. buying insurance for loss of property owing to theft. 

C. Essay question (course work): (15 marks)
John is planning to establish a fitness center in central. He is very concerned about the safety of the center because the compensation to customers if getting injured could be tremendous. After checking, he finds insurance cost on relevant risk is quite high. Suggest five ways through which the risk can be prevented or reduced.

Ans: 

The five ways are:

a) People: the trainer of the fitness center should be qualified and have received good training especially on how to operate the equipment safely
b) Equipment: the equipment should be well maintained, having checked frequently and receiving immediate repair once any defect is discovered

c) Procedure: detailed and comprehensive guidelines and instructions should be issued to the trainers as well as customers, adequate briefing and training should be conducted before allowing free usage

d) Method: only well-tried and commonly used training methods will be taught to the clients

e) Environment: the place should be kept safe e.g. no wet floor, the layout of equipment should be spacious enough to avoid hazards

(3 marks each, total = 15 marks)
Risk Management
Homework (Lessons 3 to 5)
A. Multiple Choice (10 marks)
1. Which of the following is NOT the benefit of applying risk reduction strategy?
a) Reduce chance of having loss
b) Lower insurance costs 

c) Promote safety culture

d) Eliminate all possible risks
Ans: d

2. Which of the following is NOT the problem of applying risk assumption strategy?

a) Could be disastrous to the business if catastrophic loss occurs

b) Great pressure on risk reduction measures

c) Relationship with insurance company turns bad
d) Management would be anxious about the possible loss

Ans: c

3. Which of the followings is the most favorable condition for applying the self-insurance strategy?
a) The firm is very large and have good financial support

b) The firm has good estimate about the loss
c) The firm is facing a lot of risks 

d) The firm have an effective risk reduction strategy

Ans: a

4. Which of the following is NOT one of the steps in risk management process?
a) Identifying the risks 

b) Analysis of the risks
c) Developing risk management strategies to deal with the identified risks
d) Evaluating which risk is speculative leading to gains for the company
Ans: d

5. Which of the following is not the benefit of taking Insurance to shift risk:
a) Loss will be paid by insurer

b) Less pressure on prevention and reduction measures

c) No need to be anxious about the possible loss

d) Guarantee that the firm will not fail in its business

Ans: d

6. Self-insurance belongs to which of the following risk management strategies:
a) Risk avoidance

b) Risk reduction 

c) Risk assumption

d) Risk transfer

Ans: c

7. Those risks that have not been identified and taken care of in the risk management process will most likely be settled by which of the following risk management strategies?
a) Risk avoidance

b) Risk reduction
c) Risk transfer 
d) Risk assumption

Ans: d

8. In which of the following situations would risk avoidance strategy be regarded as a better choice to business:
a) When the company is facing non-insurable risk
b) When the risk is remote but would lead to a huge loss
c) When the chance of loss is quite certain and the amount of it is tremendous
d) When the company does not want to pay for the insurance premium
Ans: c 
9. Which of the following statement is correct?
a) Risk reduction strategy can be used alone since it can prevent all possible risks

b) Risk avoidance is the best strategy since all risks associated with business can then be avoided

c) Risk assumption strategy would cover all losses which have not been fully settled by other risk management strategies
d) Risk transfer strategy can transfer all possible risk to other party

Ans: c

10. A production firm outsources its delivery function to another company is a _______ strategy
a) Risk avoidance

b) Risk reduction

c) Risk transfer

d) Risk assumption

Ans: c

(1 mark each, total = 10 marks)
B. Short questions (homework): (15 marks)
1. Briefly describe the steps involved in the risk management process. (5 marks)
Ans:

The steps are:

· Risk identification

· Risk analysis
· Development and evaluation of alternative risk management strategies

· Selection and implementation of the strategies

· Evaluation of the effectiveness of the strategies used
2. Suggest two ways by which an online retailer can adopt to transfer the risk of having inventory being stolen. 







(5 marks)
Ans:

Firstly: don’t keep any stock, by asking the producer to ship the product to the customer directly, thus the risk of theft of inventory lied on the producer

Secondly: buy insurance for stolen inventory 

3. Explain what risk management strategies would be more appropriate for managing the loss from shoplifting in a stationery shop. 


(5 marks)
Ans:

In such case, risk avoidance is not quite feasible since the shop does not have a control on when will the theft be happened and when will its business be stopped. As for risk transfer, since the loss amount incurred in shoplifting is usually insignificant, insurance company will find it unworthy to accept after taking into consideration its administrative costs involved. In view of such, risk reduction strategies e.g. installing anti-theft device such as CCTV can be applied to reduce the chance of theft from happening. And the remaining loss can be picked up by risk assumption strategy. 
C. Essay question (homework): (15 marks)
Mark is joining with some friends to set up a guest house specializing in providing lodging services to Mainland visitors. He thinks that there is no need to identify all the potential risks involved in the company’s operation, nor to analyse them or design appropriate risk management strategies since it would be too time consuming to do so. He concludes that all the company needs to do is to take out insurance for all the common types of risk a normal firm may encounter.
Explain to Mark what problems may the company run into by following his view.

Ans:

There could be several problems even with insurance policies covering the general business risks in the above case:

a) Since no business is exactly identical to each other, insurance applicable to general business operation may not be exhaustive. Mark and his friends may be exposed to some risks that are specific to their business if no risk identification has been done
b) Even all risks specific to the company have been identified in the insurance policies, the degree of each risk may not be the same as other regular companies. There could be the case that the loss is much larger than perceived and out of the coverage limit of the insurance taken out.

c) In rare but real case, the loss may be catastrophic and go beyond the capability of the insurance company to cover. Default issue happens.
(5 marks each, total = 15 marks)

Risk Management

       Classwork (Lesson 6-8)
A Multiple Choice: (10 marks)
1. A firm engaging in retail business in a country suffering from civil war will be difficult to get accepted by insurance company for taking out insurance protection on its property because such is:
a) A speculative risk

b) A pure risk

c) An adverse selection

d) Lack of Insurable interest

Ans: c

2. A firm may find it difficult to take out a fidelity insurance policy for a worker working for a totally unrelated company because such is
a) A speculative risk
b) A pure risk

c) An adverse selection

d) Lack of insurable interest

Ans: d

3. A cake shop has a motor insurance policy of coverage limit up to $1 million. The vehicle was damaged last month and the actual loss was $0.2 million. Based on the principle of indemnity, how much compensation would the cake shop normally get:
a) $ 0.2 million

b) $ 0.8 million

c) $ 1 million

d) $1.2 million

ans: a
4. An employee stole the money from the cash register. Such loss can be covered by 
a) liability insurance

b) public liability insurance

c) employees’ compensation insurance

d) fidelity insurance

Ans: d

5. An employee teamed up with outside parties to steal money from the company. Such loss can be covered by

a) liability insurance

b) public liability insurance

c) fidelity insurance

d) employees’ compensation insurance

Ans: c

6. Which of the following would be the indirect loss of a restaurant after its whole kitchen was destroyed by a fire?
a) Loss of the fixtures in the kitchen

b) Loss of the cookware in the kitchen

c) Loss of business due to no kitchen 

d) Loss of foodstuff in the kitchen

Ans: c

7. Which of the following insurances can help a business to cover the damage on the company’s lorry during a car accident caused by the company driver during the course of business?
a) Motor insurance with third party coverage only
b) Motor insurance with comprehensive coverage
c) fidelity insurance
d) Employees’ compensation insurance

Ans: b
8. Which of the following insurances is required by the law in Hong Kong?

a) Fidelity insurance

b) Public liability insurance

c) Motor insurance on third party coverage only
d) Motor insurance on comprehensive coverage
Ans: c

9. Liability insurance is for covering 
a) loss incurred when a company fails to pay off its debts
b) loss incurred when a company fails to collect its loans

c) loss due to the claim from third party for the damage done to which the company is not liable
d) loss due to the claim from third party for the damage to which the company is held liable
Ans: d
10. Which of the following is true:
a) The motor insurance covers death or injury to third party

b) The motor insurance is required by law in Hong Kong

c) The motor insurance will pay compensation to third party regardless who cause the accident
d) The motor insurance will pay compensation to third party only when the insured is liable

Ans: d
(1 mark each, total = 10 marks)
B Short questions (classwork): (15 marks)
1. Explain the concept of insurable interest with an example.

 (5 marks)
Ans

Insurable interest refers the potential that the insured may suffer from a direct/indirect loss in an event, even in case that impairment or damage of the insured object is absent
e.g. Tom would have insurable interest of his factory because he would suffer if the factory is on fire.
2. Illustrate with an example the protection provided by a motor insurance with third party coverage only. 







(5 marks)
Ans:

It covers the loss on death and injury of the third party plus damage to his/her property from the car accident that the insured is liable e.g. the insured car knocked down a pedestrian because of the fault of the insured

3. Describe what losses will the employees’ compensation insurance cover. 

(5 marks)
Ans:

It covers the liabilities to employees who die or injured as a result of an accident arising out of and in the course of employment both under the Employees’ Compensation Ordinance and the common law

C Essay question (classwork): (15 marks)
Alfred is thinking about establishing a school bus team serving mainly secondary schools in Kowloon. However, he found that the motor insurance premium is quite high to cover such a large team of vehicles. Evaluate if other risk management strategies can be adopted to replace the insurance or reduce its insurance premium.

Ans: 

Evaluation:

· Risk avoidance should not be applicable since Alfred’s major business involves vehicle, avoiding vehicle related risks would mean totally out of business

· Risk prevention/reduction strategy could be adopted:

· Having good maintenance on vehicles
· Hiring of well-trained drivers

· Monitoring drivers’ behavior closely

· Better scheduling and job allocation to reduce driver fatigue and depreciation of vehicles
· Avoid overloading the vehicles

( lower accident rate can surely reduce insurance costs

(3 marks each, max = 9 marks)

· Risk assumption:

· Motor insurance with third party coverage cannot be waived

· Damages to school buses can be repaired by the company

( part of the insurance costs can be absorbed

(3 marks each, max = 6 marks)
Risk Management
Homework (Lesson 6-8)
A. Multiple Choice (10 marks)
1. In a cinema, an employee failed to dry the floor after some customers had split their drinks on the floor. Later on another customer fell on the spot owing to the slippery condition. Will public liability insurance cover such situation?
a) Yes, because it is the employee’s fault 
b) No, because it is the employee’s but not the owner’s fault

c) No, because it is the fault of other customers

d) No, because it is the fault of the fallen customer

Ans: a

2. Which of the following insurances does NOT help cover a business’s potential liability to injured people:
a) Public liability insurance

b) Employees’ compensation insurance
c) Fidelity insurance
d) Motor insurance

Ans: c 
3. Employer is liable to the compensation under Employees’ Compensation Ordinance for any injury to his employee as a result of an accident
a) Arising out of and in the course of employment regardless whether it is employee’s fault or not
b) Arising out of and in the course of employment but not due to employee’s fault

c) Arising out of and in the course of employment but should be to other people’s fault 
d) Arising out of and in the course of employment but should be due to employer’s fault

Ans: a

4. Which of the following is correct?
a) The employees’ compensation insurance covers only full-time employees
b) The employees’ compensation insurance covers only those who work for certain amount of hours for the company per month
c) The employees’ compensation insurance covers only permanent employees

d) The employees’ compensation insurance covers all employees, irrespective of the length of employment contract or working hours, full-time or part-time employment 

Ans: d 

5. Which of the following are covered by the public liability insurance taken out by a coffee shop?
I. A customer gets hurt in the shop due to the fault of the store’s owner
II. A customer gets hurt in the shop due to the fault of the store’s employee
III. A customer gets hurt in the shop due to the fault of another customer
IV. A customer gets hurt in the shop due to the fault of himself

a) I and II

b) I and III

c) III and IV

d) II and IV

Ans: a

6. Which of the following will most likely be covered by public liability insurance taken out by a toy shop?
a) A customer gets hurt when playing with the toy after purchase in the shop owing to incorrect instructions given by the shop keeper

b) With no instruction given by the shop keeper, a customer gets hurt when playing with the toy after purchase in a public area
c) A customer gets hurt when playing with the toy after purchase at home
d) A customer gets hurt when playing with the toy after purchase on the road when going back home
Ans: a
7. The injured employee can claim compensation under common law if

a) He can prove it is not his fault for getting injured during work
b) He can prove it is the employer’s fault for his injury during work

c) He is injured during work

d) He has tried his best to avoid getting injured during work

Ans: b

8. An employer can do the following to reduce the possible claims for public liability except:
a) train the employees well in doing their work
b) improve the environment to reduce potential hazards
c) maintain the facilities in good conditions
d) prohibit any employee from entering the company’s public area 
Ans: d

9. Insurance can help cover the following loss of a fashion shop except:
a) Damage to the premise due to fire
b) Loss of inventory due to fire
c) Loss of sales due to bad weather
d) Damage to the company car due to bad weather
Ans: c
10. For company with employees, which of the following insurances cannot be waived even if the magnitude of the associated risk is minimum?
a) Employees’ compensation insurance
b) Public liability insurance
c) Fidelity insurance
d) Motor insurance with comprehensive coverage
Ans: a
(1 mark each, total = 10 marks)
B. Short questions (homework): (15 marks)
1. What insurance needs to be taken out to deal with the cheating behavior of employee? Explain the coverage of this insurance.


 (5 marks)
Ans:

Fidelity insurance should be taken out for losses owing to dishonesty act of employee. It covers also the joined act between dishonest employee and outside party. However, it will not cover the loss due to employee’s incompetence

2. Distinguish between motor insurance with third party coverage only and motor insurance with comprehensive coverage. 



(5 marks)
The third party part covers the loss due to the death or injury of third party as well as damage to his property during a car accident in which the insured is held liable. The insurance is required by the law in Hong Kong. Meanwhile, the comprehensive part covers all the losses due to many other types of hazards causing damages to the insured car such as fire, theft, floods etc in addition to third party coverage. However, it is not compulsory by law. 
3. Distinguish between compensation under the Employees’ Compensation Ordinance and the common law?






 (5 marks)
Ans:

Employee can get a compensation under the Employees’ Compensation Ordinance if he was injured at work during employment regardless it is his fault or not. However, compensation at common law can only be awarded when the employee can prove that it is the employer’s fault causing the injury. The compensation under the Employees’ Compensation Ordinance does not preclude employee’s right to take action for common law’s compensation. If the employee can get a claim under the common law, the amount compensated under the Employees’ Compensation Ordinance should be deducted.
C. Essay question (homework) (15 marks)
Explain the ways through which a central kitchen can reduce the possible claims arising from the employees’ compensation liability against the company.

Ans:

The company can reduce the claims by improving the safety of the central kitchen through the following measures:

· Environment: e.g. the layout design should include safety as one of the consideration
· People: more training on food processing 
· Equipment: must be kept in good condition
· Material: safe material for food processing e.g. no harmful gas emitted during the process
· Procedures and Instructions: provide detailed instructions for using the equipment and production process so that hazards due to misusage can be avoided 
· Methods: the production methods should be safe   
(3 marks each, max = 15 marks)

1

